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Step 1 : Express D in  terms  of polar  coordinates X  =  rwso
, y=rsinO .
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Step 2 : Compute Area (D)
.

Method I : By double integral : Area (D) = §1dA
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Step 3 : Compute Sf Thay ) DA using polar  coordinates
.
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Step 4 :

Compute
the

average of f over D
.
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Q 2) Evaluate xydydx  t IS ! xydydxtfrfjxydydx .
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Sol ) Method I :

Direct
computation .
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Method 2 : Understand the domain of integration Di  =D
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Q 3) Find the volume a the solid enclosed by the cylinder y=x
'

and the planes 2=0
, Y -12=1

.

Sol ) Step I : Sketch the solid D
.
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Step 2 : Express D in  terms of coordinates
.
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Step 3 : Compute the volume of D by triple integral .

Volume =
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Remark : Alternatively ,

the volume can be computed by a double integral
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